KIRFINEESYD—EFIERSE ZREMX F:%#2021

TSU—A = E2T-12%EHENDES

7848(R) &8 JJ—2] s-8 (LD

No | kick off 5 )L—7FNo *TE FE-E BlE

1 9:30 | F1T-2(1[=E) FWNHFH 1 |Vs| 6 TSKELE FEULYIst HEm

2 10:20 | FE2T-8(1[EE) FEUOLY1st 6 | Vs | 1 Emm FHFH TSKEXE

3 11:10 | $£1T-7 (2[EH) =% st 5 |Vvs| O S EEAEE THILT 2nd

4 12:00 | FE1T-9(2[EE) TSKE4E 3 |vs| O BIR R =¥ st FEULY2nd

5 | 1250 |ZE1T-10(2[E1H) HErEm 0 [Vs| 2 JAILT 2nd A-No1B%E BRI R
A &M (20—-5—-20)

7H4R8(H) 218 JJU—UR S-8 (@)

No | kick off 5 IL—FNo B FE-NE Bl

1 9:30 | HE1T-6(1[EE) FEUVLY2nd 1 [Vvs]| O Zhu-12 A P=¥30))

2 10:220 | %2T-3(1[EE) DREAM 6 |Vs| O BHABR FEUVLY2nd Zdy-12

3 11:10 | $2T-7 (2[EE) SIEA 1 |Vvs]| O I=230) DREAM EHBR

4 12:00 | E1T-8(2[EH) FEUVLY2nd 0 | vs| 10 HEmE THILT st EmE

5 1250 | 52T-9(2[EE;) HU KR 0 | Vs | 1 DREAM TSKER4&E i HEm

6 13:40 |E2T-12(2[@E) THILT st 3 | Vs | 1 FEUWLYst HINKBR B-No2B#&

H AR (20-5—20)




